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Figure Q1
(a) Find the midpoint of the line segment from point (1, 3) and point (2, 1).
(2 marks)
(b) Find the length of the line segment with the point (1, 3) and point (3, -1).
(2 marks)
(c) Find the slope of the line by going from point (1, 3) and point (2, 1).
(2 marks)
(d) Find the equation of the straight line from point (1, 3) and point (3, -1).
(4 marks)
(e) Find the equation of the straight line that passes through the point (2, 1)
and is perpendicular to the straight line from point (1, 3) and point
(3s '1)'
(4 marks)
(f) Graph the equation of y = %x+5 for domain—-2<x<2.
(6 marks)
r'% ¥, > 4
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Q2 (a) Find the factors for the following quadratic equations:
() x*-81=0
(i) x(2x-5)=12

(iii) 2¢* =5t =3

(9 marks)
(b) Graph the quadratic equation for y =-3x* —3x-3.
(5 marks)
(c) Graph the equation of y =-2x"+5x—1 and x = % .
(6 marks)
Q3 (a) Solve each of the following inequalities:
(i) 4x+3>23x-1)
(ii) ]~3x—1] >5
(6 marks)
(b) Express g—tlf—— in partial fractions.
xX*+x—-6
(4 marks)
(c) IfQ(3,—4) be a point on the terminal side of an angle &. Find the value
of the following:
(i) siné
(ii) cos@
(iii) tan &
(6 marks)
(d) Prove that Lol + il =1+tan@+cotf.

1-cot@ 1-tané

_— ("r marks ) ‘ i
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Q4

Q5

7 1 3
(a)If A=|8 —2 7], then find the inverse of 4.
9 3 6
(4 marks)
(b) Solve the following equation using Gauss Elimination method:
x+2y+3z=0
2x+5y+3z=0
x+8z=0
(6 marks)
(c) Simplify (2+i)(3—4i)in the form of a+ib.
(2 marks)
. ., 3-Ti
(d) Rewrite the quotient o in standard form.
i
(3 marks)
Tz .. 1z . S g
(e If z=+/8 cos—4—+ zsm-z— , by using De Moivre’s Theorem, find z°.
(5 marks)

(a) Givenu = i—3j+7k and v= 8i—2j—2k, determine the following expressions:
(i u.v
(i)uxv

(iii) the angle between u and v
(6 marks)

(b) Givena=3i—-2j+3k,b= j—4k and c= 2i+ 4+ 6k . Find:
(i a.(bxc)
(i) (@ x b) x (b x ¢)

(4 marks)

12 o2
(c) Sketch the graph of (x641) + & 258) =1 and locate the foci.

(5 marks)

-END OF QUESTIONS- T A
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Linear equations:

d =J(x—x)* + (y2— y)?
- X +X Kt
x,y)=| —=,—=
(- (30252
Quadratic equation:

_ —b++b*—4ac

a 2a
Trigonometry:
sin’@+cos* @ =1
tan’@+1=sec’ &
cot’0+1=csc’* @

sin2a =2sinacosa

cos2a = cos’ @ —sin’ a

Solution of Systems of linear:

Aij = (— 1)i+jA4;'j

Complex Numbers:

i=-1

7= rei(0+2k7r)

Vectors:

[VI =+ v

Conic sections:
Circle:

2+ yz -

(=B + (=R =7’

Ellipse:
2 2

2.7

a b

=1

._ 2 _ 2
G- 0B
a b
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LIST OF FORMULA

slope = ! X, X
X, =X

y=mx+c

y—yr=m(x—x)

sin(a = ) =sina cos ftcosasin
cos(a*+ ) =cosacos fFsinasin f

tan(aiﬂ):_w
1Ftana tan f
tan2a =002 g4t = gi4=1
l-tan” o
| D Ds: D
X1=—,X2= , X3 =
o p 1

e’ =cos@+isiné

_ab
01

Parabola:

x: =4py

Vertical: (x—h)> =4 p(y—k)
Horizontal: (y—k)* =4p(x—h)

Hyperbola:
-k (-h’

s :
(x=h? (y-k)

& !
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